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General Instructions:

1.
2.

O NH G,

All the questions are compulsory.

Please write down the Serial Number of the question before attempting
it.

The question paper consists of 22 questions and it is divided into four
sections A, B, C and D.

Section A comprises of 5 questions carrying 1 mark each.

Section B comprises of 9 questions carrying 2 marks each.

Section C comprises of 5 questions carrying 3 marks each.

Section D comprises of 3 questions carrying 4 marks each.

There is no overall choice. However, an internal choice has been
provided in 1 question of 3 marks and 1 question of 4 marks each. You
have to attempt only one of the alternatives in all such questions.

. Use of calculator is not permitted.

Wus A (Section A)
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2. Ife g1 &) AsIE 5 M 2, A1 x BT 94 ST P | )
If the width of the path is 5m, then find the value of x.
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3. e AT A7 fae SEeuT oSy | @®
Tell whether direct proportion or indirect proportion.
“Jp o SET BT TS R TAT S W Iifora et
“Sum deposited in the bank and interest earned on it”

4. x 3R p P UG A HITOT |
Find the product of x and p.

5. 5xy I 5z ¥ A4 UGS qA1sy |
Write the common factor of 5xy and 5z.
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WUus § (Section B)
6. T TG 3T IaISV: @
(i) R/ I9® 4 dad Tdb U BIAT ©, S 9894 $ed @ |
(i) 4 H TH PHEE 2 B |
State true or False:
(i) An expression having only one term is called polynomial.
(ii) 2is afactor of ax>.
7. AIABT DI TR BTG @

Fill in the table:

Ugiel (efiey #) 2 3 5

Petrol (in Litres)

4 (fber #) 10 20 25

Distance (in Km)

8. 98 W&l T HITY T 392 & T IR R a8 Yf ¥ AT 99
ST | §9 UHR YT H&AT BT g9l ¥ Hd DI @
Find the number which should be multiplied to 392 to make it a
perfect cube. Find the cube root of the number so obtained.
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Find the product

(a-2)(p +3)
10. < TS gy BT aRAT ST IR | @

Find the perimeter of the given figure.
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11. 39S oSS fAfer | 64 BT T AT DI | @
Find the cube root of 64 by prime factorization method.

12. |FER &1 & §HM A Hd 1000 ARl F9H @ar| I 250
ol ¥ o @S @ S wdey are i @ g e B
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A total of 1000 people purchased items from a shop on Monday. If 250
people purchased shoes the find the central angle of the people who
purchased shoes.

13. p=0TR 6p>—7p + 5 A 3 B | @
Find the value of 6p> - 7p + 5 at p =0.
14. @
qIgul &l |\
. 4 7
Number of pipes
. (. .ﬁ) 70 X
Time (in minutes)
TE HAUTT ¥ |
Itis proportion.
4X70=7Xx
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Wus ¥ (Section C)

15. e «ifog -
Match the following:
(a) (-4)° (i) 18
(b) V1 (i) 64
(c) (-3)X(-3)X2 (iii) 1
(iv) —64
16. OGS DI
Factorize:
10ab+4a+5b+2

17. /9 9 @ IR W U3 & STR QIfoTY |
Answer the following questions based on the given figure:
(i) IT 59 PR &7 3™ 87
g a1 /S 3MMeid / Te &S ARG
(i) =9 e & &I I TS 8?
(iii) fre 78 % we e e g ?
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(i) What kind of graph s it?

Pie chart/ BAR GRAPH/ Double bar graph
(i) What information is given in this graph?
(iii) Which month has the maximum snowfall?



18. o1 & & voud) Rud Aud sifty| ®

Find out the monomial, binomial and trinomial from the following:

(i) x+2y-z
(ii)) 4p-5
(iii) -2x+3
(iv) xz-yz+z2
(v) -10b
(vi) 100
(vii) -3s+l
(viii) -d
19. & TE B # 3RS BT S=md ST BPIRTY | ©)
Find the area of the following triangle.
3cm
1
16 cm
3AUdT OR

fay 1Y THIER TGS BT &=her 60 cm’ § [YSTT BT TS ST BN |

The area of the given parallelogram is 60 cm?. Find the length of the side AB.
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Eus ¢ (Section D)
20. 45 T Uh Td $I 8 R F o Fhell & | S Vd @l 6 T & fha- 1
T qHdl § ? @
45 cows can graze afield in 8 days. How many cows will graze the
same field in 6 days?
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I o w1 & foIU 100 aifeest & @) o@® areey § fohae ofie} uml smgem?
The water is filled into 80 buckets from a pond. Every bucket has 20 |
of water in it. If there are 100 buckets to fill then how much litre of
water will be there in each bucket?

21. 9T UG 3T ARy @
(i) ot BT &=ma =4 X ol
(i) ga &1 =g =2 X Bean
(i) P & aaha= AR Xad
(iv) 3mad &1 uRAT =cdrs XdISTs
State true or False:
(i) Area of square = 4Xside
(ii) Diameter of circle = 2 X radius
(iii) Area of triangle = baseX height
(iv) Perimeter of rectangle =2 X (length + breadth)

22, SIERUTIER AIfA®T BT GRT DI TAT 918 A1 99184 | @

Complete the table according to example and then draw a
pie —chart.

uRasT AT @ T P BIOT
Transport No. of persons Central angle
SINER 72 72 X 360°= 72°
Cycle 360
Dl 108
On foot
99 AT dR 180
Bus or Car
Bl
Total 360




